.7

1) cos71 = 0.3256

3) sin75 = 0.9659

5) sinf =~
25
7
7)

. 7
sinf = —

7 |iII 3v2 16
2

16
9) sin9=g%(ﬁ
. 82
sinf =
I

11) (13)tan51 = %(13)

13tan51 = x
B 13(1.235) = x
16.05 = x
. 13
13) (x)sin24 = ~ (%)
xsin24 13
X sin24  sin24
13 13
~ sin24
13

L] X =—"
0.407

x = 31.96

>

;N

15) (9)tan71 = §(9)
9tan71 = x
9(2.904) = x
26.14 = x

x

17

X

19

~

21

23

AR

25)
X
67.2
a

27)

X

32 =
29) 24

.

(6) cos 68 =§ (6)
6cos 68 = x
6(.3746) = x
225 =x

(6)tan71.4 = g

6tan71.4 = x
6(29714) = x
17.83 = x

(5) cos 38 = §(5)
5cos38 =x
5(.7880) = x
3.94 =x

(x)cos67 = %(x)

xXcos67 4

XCoS67  cos67
4

Ccos 67
4
X ==
3907
x =10.24

(4)tan 67.2 = §(4)

4tan67.2 = x
4(2.3789) = x
952 =x

(x)cos32 = %(x)

xcos32 4
cos 32 cos 32
_ 4
cos 32
_ 4
" 0.8480
x =4.72

(2.4)tan 22 = 2"—4(2.4)
24tan22 = x

2.4(0.4040) = x
097 =x



31)

33)

11

(3) cos 61 = §(3)

3cosb6l =x

3(.4848) = x
145 =x

(11) sin 30 :ﬁ(n)
11sin30 = x

11(0.5) = x

55=x

(11) tan 95 = %(11)
11tan95 =x
11(3.7321) = x
41.05 =x

37) (x)sin37.1 = % (x)

n xsin37.1 _ 11
sin37.1  sin37.1
37.1 ‘= 11
X " sin37.1
11
X=—
.6032
x = 18.24
39) (x) cos40 = 13.1 (x)
O~ 131 xcos40 _ 13.1
cos40  cos40
= 131
X " cos40
13.1
X =—
.7660
x=17.1



